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.     Starter    .
Differentiate the following:

1) 
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Find the gradient when x = 3

6)  
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Find f’(-1)

7) Find the gradient of the tangent to y = x3 + x2 – 6x when x = -1

8) 
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Solve f’(x) = 2
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.     Find the equation of a Tangent Line    .
Find the equation of the tangent to 
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 when x = 2
The tangent has the same gradient as the curve at point P
Equation of tangent line is y = mx + c     
Remember ‘m’ is the gradient if the tangent


Differentiate the function of the curve.  y΄ =
Use the derivative to find the gradient at point P

y΄ at x = 2 is…       This is the Gradient of the tangent





So far we have the Tangent equation being y = ……x + c

Substitute in the values of ‘x’ & ‘y’ at point P to find the value of ‘c’ (y intercept)
At  P (2 , 5) 

Put x = 2 & y = 5 into the tangent equation to find ‘c’



Tangent Equation y = ……x + c



Final Answer:













Tangent line is y = ……x + ……
.     Practice of Tangent Line    .
1)  Find the equation of the tangent line to the curve 
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at the point (2,0)

Step 1 

Differentiate and find the gradient at x = 2  

Step 2

Use the point (2,0) to find ‘c’ for the tangent equation

 y = ……x + ……

2)  Find the equation of the tangent line to the curve 
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 when x = 2
Step 1   

Step 2


3)  Find the equation of the tangent line to the curve 
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 when x = -1

(watch negatives)
.     Equation of a Normal Line (Extension)    .

The normal line is the line perpendicular (at 90°) to 
the tangent line
Parallel lines have the same gradient   
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Perpendicular lines have gradients 
that multiply to give -1
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eg. Given 
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 find:

The gradient of the tangent at x = 3 is
The gradient of the normal at x = 3 is
eg. Given 
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 find the point where the gradient of the normal is 2

eg. Find the equation of the normal line to the curve 
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at x = 2
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